Analytical Geometry — Supplemental Questions with Solutions

1. Consider the following diagram showing line segments E and CD . Point Fis the midpoint of

AB . Point E divides CD in a ratio of 3 : 1. Find the distance between points £ and F.
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2. How long will it take Frank to get from the School to Work using the directions below if he can
walk at a speed of 5.8 km/hour?

School = (-11, 8)

Work = (-7, 7)

Park = (-6, 5)

Library = (-10, 4)

st \/( 11+10)" +(8-4)" =4/1+16 =4.123
LP=\/(_6+10) (5 4)2 m—4123
de=\/(—7+6) +(7-5) =V1+4=2236

Total distance travelled: 10.482 km

h
& km

Travelling 5.8 k7m’ =.(10.482 km)(5 j =1.807 hrs.



3. Find the rule of line 2.

Parallel : Perpendicular lines

Slope of line 1:
2-0 2

Slope of line 2: (negative reciprocal)
2 -1

1 2

-1
“y=—x+b
Y75
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